
Answer Key For Triangle Worksheet  (See Image Scans starting on Page 3) 

 

1) 6 x 7 x 12 

 

Using the law of cosines 

 
2 2 2

22 2
1

6 7 12 2 7 12cos

6 7 12
cos 20.85

2 7 12

A

A
−

= + − ⋅ ⋅ ∠

 − −
∠ = ≈  − ⋅ ⋅ 

�

 

Using the law of sines 
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2) 8 x 8 x 5 

 

Using the law of sines 
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The triangle is isosceles so  
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3)  3 x 4 x 8 

 

Note that 3+4 < 8 so this is not a triangle 

so no solution 

4) 10 x 78° x 15 
 

 Using the law of cosines 

( )
( )

2 2 2

2 2

10 15 2 10 15cos 78

10 15 2 10 15cos 78 16.21

c

c

= + − ⋅ ⋅

= + − ⋅ ⋅ ≈

�

�

 

Using the law of sines 
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5) 37° x 12 x 49° 
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Using the law of sines 
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6) 13 x 12 x 90° 
 

Using the Pythagorean theorem 
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7)  45° x 8 x 7 
 

Two solutions 

Note that 7 < 8 

 

Using the law of sines 
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Using the law of sines 
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But Wait! 
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Using the law of sines 
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8)  45° x 8 x 4 
 

No solution 

 

Note in the diagram below that 
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9) 45° x 8 x 12 
 

One solution 

Note that 12 > 8 

Using the law of sines 
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10) 30° x 8 x 4 
 

One Solution, a right triangle 

Using the law of sines 
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